BrixomHo# JyueBoO# TETPOX
Output beam tetrode

Beixognoit aydesoil terpon 30I11C mpennasha-
Yey s YCHJEHHS MOIIHOCTK HH3KOH 4YacTOTHL.

Beixoganle ayuesbie Terpombt 30IT1C Boimycka-
JOTCSI B CTEKJSHHOM OGOPMJIEHHH C OKTaJNbHBIM I0-
KoJieM, ¢ OKCHAHBIM KaTOIOM KOCBEHHOTO Haxasna.

Buixonnble JyueBbie Terpoanl 30IT1C ycrofiun-
Bbl K BO3LEHCTBHIO OKpyXKalolleldl TeMiepaTypsl OT
—60 mo +70°C ® OTHOCHTENBHOH BJIAXKHOCTH
95—989%, npu temnepatype -+40°C.

Hauboasiuuit Bec 46 .

lapanruposamnan AosroseydocTs 500 uacos.

300MIC

The 30I11C output beam tetrode is designed
for amplification of low-frequency power.

The 30IT1C output beam tetrodes are enclosed
in glass bulb and are provided with an octal base
and an indirectly heated oxide-coated cathode.

The 30IT1C output beam tetrodes are resistant
to ambient temperature from —60 to +70°C and
relative humidity of 95 to 989% at +40°C.

Maximum weight: 46 gr.
Service life guarantee: 500 hr.

3JEKTPUUECKHE HAHHBIE
ELECTRICAL CHARACTERISTICS

U, 30V Uy —75V P =05W
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MEXJYAJEKTPOLHBIE EMKOCTH
INTERELECTRODE CAPACITANCES

Cax
Cak

Cgla

19 pF
11 pF
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MPEAEJBHO JIONYCTHMBIE 3KCIUJIYATAILHOHHBIE JAHHBIE
MAXIMUM AND MINIMUM PERMISSIBLE RATINGS

Max Min
U, 30V 25V
U, 110 \"4
Ug? 110V
P, TW

Max
Pg2 1,0 W
Rgl 0,5 MQ

Ug 173V
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30' II( : BrixonHoi ayueBoii Tetpon,
Output beam tetrode
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